

CONVEXITY IN NORMED HYPERVECTOR SPACES

P. Raja

*Department O Mathematics
Shahid Beheshti University
P.O. Box 1983963113, Tehran
Iran
e-mail: pandoora-raja@yahoo.com*

S.M. Vaezpour

*Department of Mathematics and Computer Sciences
Amirkabir University of Technology
P.O. Box 15914, Tehran
Iran
e-mail: vaez@aut.ac.ir*

Abstract. In this paper we obtain some results on convexity in a normed hypervector space. We also investigate the concept of absorbing and balanced set and generalize the corresponding results of vector space.

Keywords: norm; convex set; strictly convex set; hypervector space.

AMS Subject Classification: 46A55; 46B99.

1. Introduction

In 1934 Marty [5] introduced a new mathematical structure as a generalization of groups and called it hypergroup. Subsequently, many authors worked on this new field and constructed some other generalizations such as hyperrings, hypermodules, and hyperfields. In 1988 the notion of hypervector space was given by Tallini [12]. She studied some algebraic properties of this new structure in [8], [9], [10], and [11]. A wealth of applications of these new constructions in: geometry, hypergraphs, binary relations, combinatorics, codes, cryptography, probability, and etc. can be found in [2]. Recently, we studied hypervector spaces in the viewpoint of analysis and generalized some definitions and proved many interesting theorems about them in [6] and [7]. In this paper we focus on some other properties of these spaces. We define convex, strictly convex, balanced, and absorbing subsets of a normed hypervector space and prove some theorems about them.

Let $P(X)$ be the power set of a set X , $P^*(X) = P(X) \setminus \{\emptyset\}$, and K a field. A *hypervector space* over K that is defined in [8], is a quadruplet $(X, +, \circ, K)$ such that $(X, +)$ is an abelian group and

$$\circ : K \times X \longrightarrow P^*(X)$$

is a mapping that for all $a, b \in K$ and $x, y \in X$ the following properties holds:

- (i) $(a + b) \circ x \subseteq (a \circ x) + (b \circ x)$,
- (ii) $a \circ (x + y) \subseteq (a \circ x) + (a \circ y)$,
- (iii) $a \circ (b \circ x) = (ab) \circ x$, where $a \circ (b \circ x) = \{a \circ y : y \in b \circ x\}$,
- (iv) $(-a) \circ x = a \circ (-x)$
- (v) $x \in 1 \circ x$.

Note that every vector space is a hypervector space and specially, every field is a hypervector space over itself.

A non-empty subset of a hypervector space X over a field K is called a *subspace* of X if the following holds:

- (i) $H - H \subseteq H$,
- (ii) $a \circ H \subseteq H$, for every $a \in K$.

Let $(X, +, \circ, K)$ be a hypervector space. Suppose that for every $a \in K$, $|a|$ denoted the valuation of a in K . A *pseudonorm* on X that is defined in [9], is a mapping

$$\|\cdot\| : X \longrightarrow \mathbb{R}$$

that for all $a \in K$ and $x, y \in X$ has the following properties:

- (i) $\|0\| = 0$,
- (ii) $\|x + y\| \leq \|x\| + \|y\|$,
- (iii) $\sup \|a \circ x\| = |a| \|x\|$.

A pseudonorm on X is called a *norm*, if:

$$\|x\| = 0 \iff x = 0.$$

2. Main results

The norm that is defined on hypervector space $(X, +, \circ, \|\cdot\|, K)$ induced a topology on X as following:

Let $(X, +, \circ, \|\cdot\|, K)$ be a normed hypervector space. For $x \in X$ and $\epsilon > 0$ the open ball $B_\epsilon(x)$ is defined as

$$B_\epsilon(x) = \{y \in X : \|x - y\| < \epsilon\}.$$

The $\{B_\epsilon(x) : x \in X, \epsilon > 0\}$ is a basis for a topology on X which is the topology induced by this norm.

Clearly, the intersection of any collection of convex sets is convex.

Definition 2.1. A non-empty subset E of a hypervector space $X = (X, +, \circ, K)$ is called convex if for any $x, y \in E$ and $0 \leq \lambda \leq 1$,

$$\lambda \circ x + (1 - \lambda) \circ y \subseteq E.$$

Also X is called strictly convex if $\sup \left\| \frac{1}{2} \circ x + \frac{1}{2} \circ y \right\| < 1$, whenever $x, y \in X$, $x \neq y$, and $\|x\| = \|y\| = 1$.

Lemma 2.2 Let $X = (X, +, \circ, \|\cdot\|, K)$ be a normed hypervector space, $x \in X$, and $\epsilon > 0$. If

$$B_\epsilon(x) = \{y \in X : \|x - y\| < \epsilon\},$$

then $B_\epsilon(x)$ is a convex set.

Proof. First, suppose that $x = 0$. Let $z, w \in B_\epsilon(x)$ and $0 \leq \lambda \leq 1$. Since for all $a, b \in X$, $\|a + b\| \leq \|a\| + \|b\|$ and by the definition of a norm, we have

$$\begin{aligned} \sup \|\lambda \circ z + (1 - \lambda) \circ w\| &\leq \sup \|\lambda \circ z\| + \sup \|(1 - \lambda) \circ w\| \\ &= \lambda \|z\| + (1 - \lambda) \|w\| \leq \lambda \epsilon + (1 - \lambda) \epsilon = \epsilon. \end{aligned}$$

On the other hand, it is easy to check that $B_\epsilon(x) = B_\epsilon(0) + x$. So the proof is complete. \blacksquare

Theorem 2.3. Let $X = (X, +, \circ, \|\cdot\|, K)$ be a normed hypervector space, $x, y \in X$, $x \neq y$, and $\|x\| = \|y\| = 1$. If X is strictly convex, then

$$\sup \|t \circ x + (1 - t) \circ y\| < 1,$$

for $0 < t < 1$. Also X is strictly convex if there is some t , $0 < t < 1$, such that

$$\sup \|t \circ x + (1 - t) \circ y\| < 1,$$

for $x, y \in X$ with $x \neq y$, and $\|x\| = \|y\| = 1$.

Proof. Suppose $0 < t_0 < 1$ and

$$\sup \|t_0 \circ x + (1 - t_0) \circ y\| < 1.$$

If $0 < t < t_0$, then let $s = \frac{t}{t_0}$. So $0 < s < 1$ and

$$\begin{aligned} t \circ x + (1 - t) \circ y &= (st_0) \circ x + [s(1 - t_0) + 1 - s] \circ y \\ &\subseteq (st_0) \circ x + (s(1 - t_0)) \circ y + (1 - s) \circ y. \end{aligned}$$

Therefore

$$\begin{aligned} \sup \|t \circ x + (1 - t) \circ y\| &\leq \sup \|(st_0) \circ x + (s(1 - t_0)) \circ y + (1 - s) \circ y\| \\ &\leq \sup \|(st_0) \circ x + (s(1 - t_0)) \circ y\| + \sup \|(1 - s) \circ y\| \\ &\leq s \sup \left\| \frac{1}{s} ((st_0) \circ x + (s(1 - t_0)) \circ y) + (1 - s) \|y\| \right\| \\ &\leq s \sup \|t_0 \circ x + (1 - t_0) \circ y\| + (1 - s) \|y\| \\ &< 1 - s + s = 1, \end{aligned}$$

because $a \sup \|b \circ x\| = ab \|x\| = \sup \|(ab) \circ x\|$, for every $a, b > 0$.

If $t_0 < t < 1$, let $s = \frac{1 - t}{1 - t_0}$. Then $0 < s < 1$ and

$$\begin{aligned} t \circ x + (1 - t) \circ y &= (st_0 + 1 - s) \circ x + s(1 - t_0) \circ y \\ &\subseteq (1 - s) \circ x + (st_0) \circ x + s(1 - t_0) \circ y. \end{aligned}$$

Hence

$$\begin{aligned} \sup \|t \circ x + (1 - t) \circ y\| &\leq \sup \|(1 - s) \circ x + (st_0) \circ x + s(1 - t_0) \circ y\| \\ &\leq \sup \|(1 - s) \circ x\| + \sup \|(st_0) \circ x + s(1 - t_0) \circ y\| \\ &\leq (1 - s) \|x\| + s \sup \|t_0 \circ x + (1 - t_0) \circ y\| \\ &< 1 - s + s = 1, \end{aligned}$$

as before. Thus

$$\sup \|t \circ x + (1 - t) \circ y\| < 1,$$

for $0 < t < 1$, if $\sup \|t_0 \circ x + (1 - t_0) \circ y\| < 1$, for some $0 < t_0 < 1$. On the other hand if X is strictly convex, then

$$\sup \left\| \frac{1}{2} \circ x + \frac{1}{2} \circ y \right\| < 1.$$

This proves both parts of the theorem. ■

Before proving the next theorem, it is necessary to note the following useful remark.

Remark 2.4. If $X = (X, +, \circ, \|\cdot\|, K)$ is a normed hypervector space such that for every $x, y \in X$, $\|(x + y)\| = \sup \|1 \circ x + 1 \circ y\|$, then for every $0 \neq a \in K$, we have $\sup \|a \circ (x + y)\| = \sup \|a \circ x + a \circ y\|$. Because

$$\begin{aligned} \sup \|a \circ (x + y)\| &= |a| \sup \|1 \circ (x + y)\| \\ &= |a| \sup \|1 \circ x + 1 \circ y\| \\ &= \sup \|a \circ (1 \circ x + 1 \circ y)\|, \end{aligned}$$

and therefore

$$\begin{aligned} \sup \|a \circ x + a \circ y\| &= |a| \sup \left\| \frac{1}{a} \circ (a \circ x + a \circ y) \right\| \\ &\leq |a| \sup \|1 \circ x + 1 \circ y\| = \sup \|a \circ (x + y)\| \\ &\leq \sup \|a \circ x + a \circ y\|. \end{aligned}$$

It shows that

$$\sup \|a \circ (x + y)\| = \sup \|a \circ x + a \circ y\|.$$

Theorem 2.5. *Let $X = (X, +, \circ, \|\cdot\|, K)$ be a normed hypervector space such that for every $x, y \in X$ and $c \in K$,*

- (i) $x \in c \circ y$ implies $y \in c^{-1} \circ x$,
- (ii) $x \in 1 \circ y$ and $y \in 1 \circ x$ implies $x = y$,
- (iii) $\|(x + y)\| = \sup \|1 \circ x + 1 \circ y\|$,
- (iv) $\|c \circ x\|$ is a closed set.

Then X is strictly convex if and only if for all non-zero elements $x, y \in X$, $\|x + y\| = \|x\| + \|y\|$ implies $x \in c \circ y$, for some $c > 0$.

Proof. First, suppose the condition holds. Let $x, y \in X$ be such that $\|x\| = \|y\| = 1$ and $\sup \left\| \frac{1}{2} \circ x + \frac{1}{2} \circ y \right\| = 1$. So

$$1 = \|x\| = \|y\| = \sup \left\| \frac{1}{2} \circ x + \frac{1}{2} \circ y \right\| = \frac{1}{2} \|x + y\|$$

and, therefore, $\|x + y\| = 2 = \|x\| + \|y\|$. Hence, there is $c > 0$ such that $x \in c \circ y$. Since $y \in c^{-1} \circ x$, we have

$$1 = \|x\| \leq \sup \|c \circ y\| = c \|y\| \leq c \sup \|c^{-1} \circ x\| = cc^{-1} \|x\| = 1,$$

and, therefore, $c = 1$. It means that $x \in 1 \circ y$ and $y \in 1 \circ x$. So, $x = y$ and X is strictly convex.

To complete the proof, suppose X is strictly convex and let non-zero elements $x, y \in X$ be such that $\|x + y\| = \|x\| + \|y\|$. Also let $x_1 \in \frac{1}{\|x\|} \circ x$ and $y_1 \in \frac{1}{\|y\|} \circ y$ be such that $\|x_1\| = \|y_1\| = 1$. Since $x \in \|x\| \circ x_1$ and $y \in \|y\| \circ y_1$, then

$$\|x + y\| \leq \sup \left\| \frac{1}{\|x\|} \circ x_1 + \frac{1}{\|y\|} \circ y_1 \right\| \leq \sup \|1 \circ x + 1 \circ y\| = \|x + y\|.$$

So $\sup \left\| \|x\| \circ x_1 + \|y\| \circ y_1 \right\| = \|x\| + \|y\|$. It means that

$$\sup \left\| \frac{\|x\|}{\|x\| + \|y\|} \circ x_1 + \frac{\|y\|}{\|x\| + \|y\|} \circ y_1 \right\| = 1,$$

where $0 < \frac{\|x\|}{\|x\| + \|y\|} < 1$. By Theorem 2.3, we have $x_1 = y_1$. Hence

$$x \in \|x\| \circ x_1 = \|x\| \circ y_1 \subseteq \frac{\|x\|}{\|y\|} \circ y.$$

This completes the proof. ■

Example 2.6. Let $(\mathbb{R}^n, +)$ be the classical additive group over \mathbb{R}^n and for every $a \in \mathbb{R}$,

$$a \circ x = \{tax : 0 \leq t \leq 1\},$$

where tax is the classical multiplication of \mathbb{R} over \mathbb{R}^n . Now, let $\|x\|$ be the distance of x from the origin in \mathbb{R}^n . Then it is easily seen that $(\mathbb{R}^n, +, \circ, \|\cdot\|, \mathbb{R})$ is a normed hypervector space which is satisfied in the hypothesis of Theorem 2.5.

Definition 2.7. A non-empty subset E of a hypervector space $X = (X, +, \circ, K)$ is called balanced if $k \circ x \subseteq E$, whenever $x \in E$ and $k \in K$ with $|k| \leq 1$, and it is called absorbing if for every $x \in X$ there exists $r > 0$ such that

$$\frac{1}{r} \circ x \subseteq E.$$

Theorem 2.8. Let $X = (X, +, \circ, \|\cdot\|, K)$ be a normed hypervector space such that

- (i) $0 \circ x = k \circ 0 = \{0\}$,
- (ii) $x \in k \circ y$ implies that $y \in k^{-1} \circ x$,
- (iii) $\{k \circ x : k \in K\}$ is a subspace of X ,

for every $x, y \in X, k \in K$. Also suppose that E is a convex, balanced and absorbing subset of X such that no non-zero subspace of X is contained in E . If

$$(1) \quad \|x\| = \inf\{r > 0 : \frac{1}{r} \circ x \subseteq E\},$$

then $\|\cdot\|$ is a norm on X , and that

$$\{x \in X : \|x\| < 1\} \subseteq E \subseteq \{x \in X : \|x\| \leq 1\}.$$

Furthermore, for every norm in a hypervector space X , there is a convex, balanced and absorbing subset E of X such that it stabilizes (1).

Proof. Let $x \in X$ and suppose that $\|x\| = \inf S_x$, where

$$S_x = \{r > 0 : \frac{1}{r} \circ x \subseteq E\}.$$

Then $S_x \subseteq (0, \infty)$, and hence $\|x\| \geq 0$, for every $x \in X$. If $x \in E$ then $-x \in (-1) \circ x \subseteq E$, because E is balanced. So

$$\{0\} = \frac{1}{2} \circ 0 = \frac{1}{2} \circ (x - x) \subseteq \frac{1}{2} \circ x + \frac{1}{2} \circ (-x) \subseteq E,$$

because E is convex. Thus $\{0\} = \frac{1}{r} \circ 0 \subseteq E$, for every $r > 0$, and therefore $S_0 = (0, \infty)$ and $\|0\| = \inf S_0 = 0$.

Now, suppose that $x \neq 0$. Since $0 \neq x \in 1 \circ x \subseteq Y$, then $Y = \{k \circ x : k \in K\}$ is a non-zero subspace of X . So, Y is not contained in E . Hence there is $k_1 \in K$ such that $k_1 \circ x \notin E$. Clearly, $k_1 \neq 0$. Suppose that $0 < r < \frac{1}{|k_1|}$ and $r \in S_x$. Then, $\frac{1}{r} \circ x \subseteq E$, and since $|K_1 r| < 1$ and E is balanced, we have

$$k_1 \circ x = (k_1 r) \circ \left(\frac{1}{r} \circ x \right) \subseteq E.$$

This contradiction shows that if $r \in S_x$, then $\frac{1}{|k_1|} \leq r$. Thus, we have proved that $\|x\| = 0$ if and only if $x = 0$.

Next, assume that $k \neq 0$ and $r \in S_{k \circ x} = \bigcup_{y \in k \circ x} S_y$. Then there is $y \in k \circ x$ such that $r \in S_y$. Therefore, $\frac{1}{r} \circ y \subseteq E$, $x \in k^{-1} \circ y$ and since E is balanced, we have

$$\frac{|k|}{r} \circ x = \frac{|k|}{k} \circ \left(\frac{k}{r} \circ x \right) \subseteq \frac{|k|}{k} \circ \left(\frac{k}{r} \circ (k^{-1} \circ y) \right) = \frac{|k|}{k} \circ \left(\frac{1}{r} \circ y \right) \subseteq E.$$

It means that $\frac{r}{|k|} \in S_x$ and then $\|x\| \leq \frac{r}{|k|}$. So, for every $r \in S_y$ that $y \in k \circ x$, we have $|k| \|x\| \leq r$ and hence

$$|k| \|x\| \leq \|y\|.$$

So, for every $k \neq 0$,

$$|k| \|x\| \leq \sup \|k \circ x\|.$$

By changing k to $\frac{1}{k}$, we have

$$\left| \frac{1}{k} \right| \|y\| \leq \sup \left\| \frac{1}{k} \circ y \right\|,$$

for every $y \in k \circ x$. Therefore, there is $z \in \frac{1}{k} \circ y$ such that $\left| \frac{1}{k} \right| \|y\| \leq \|z\|$. So,

$$|k| \|z\| \leq \|y\| \leq |k| \|z\|.$$

It means that $\frac{1}{|k|}||y|| = ||z||$. Since $z \in \frac{1}{k} \circ y \subseteq \frac{1}{k} \circ (k \circ x) = 1 \circ x$, we conclude that

$$\sup ||k \circ x|| \leq |k| \sup ||1 \circ x||.$$

Now, we show that $\sup ||1 \circ x|| = ||x||$. Let $z \in 1 \circ x$. Then, $x \in 1 \circ z$ and $\frac{1}{r} \circ z \subseteq E$, for every $r \in S_z$, and also

$$\frac{1}{r} \circ x \subseteq \frac{1}{r} \circ (1 \circ z) = \frac{1}{r} \circ z \subseteq E.$$

It means that $r \in S_x$. Similarly, one can show that if $r \in S_x$, then $r \in S_z$. Hence $||z|| = ||x||$. So by the last inequality, we have

$$\sup ||k \circ x|| \leq |k| ||x||,$$

and, therefore, we have shown that

$$\sup ||k \circ x|| = |k| ||x||,$$

for every $k \neq 0$. Clearly, it is true for $k = 0$.

To prove the triangular inequality, let $x, y \in X$. Given $\epsilon > 0$, we can find $r \in S_x$ and $s \in S_y$ such that $r < ||x|| + \epsilon$ and $s < ||y|| + \epsilon$. Then $\frac{1}{r} \circ x \subseteq E$, $\frac{1}{s} \circ y \subseteq E$, and since E is convex, we have

$$\frac{1}{r+s} \circ (x+y) \subseteq \frac{1}{r+s} \circ x + \frac{1}{r+s} \circ y = \frac{r}{r+s} \circ \left(\frac{1}{r} \circ x \right) + \frac{s}{r+s} \circ \left(\frac{1}{s} \circ y \right) \subseteq E.$$

Hence $r+s \in S_{x+y}$, and

$$||x+y|| \leq r+s < ||x|| + ||y|| + 2\epsilon.$$

Since $\epsilon > 0$ is arbitrary, we have

$$||x+y|| \leq ||x|| + ||y||.$$

Thus $||\cdot||$ is a norm on X .

Next, let $||x|| < 1$, then there is $r \in S_x$ with $||x|| < r < 1$. Now, since E is balanced, $\frac{1}{r} \circ x \subseteq E$ and $x \in 1 \circ x = r \circ \left(\frac{1}{r} \circ x \right) \subseteq E$, and therefore

$$\{x \in X : ||x|| < 1\} \subseteq E.$$

If $x \in E$, then $1 \circ x \subseteq E$, because E is balanced and hence $||x|| \leq 1$. Thus

$$E \subseteq \{x \in X : ||x|| \leq 1\}.$$

For the last part of the theorem, let $X = (X, +, \circ, ||\cdot||, K)$ be a normed hypervector space. Put $E = \{x \in X : ||x|| < 1\}$. Then by Lemma 2.2, E is

convex. If $x \in E$ and $r \in K$ such that $|r| \leq 1$, then $\sup \|r \circ x\| = |r| \|x\| < 1$ and therefore $r \circ x \subseteq E$ and E is balanced. For $0 \neq x \in X$, let $r = 2\|x\|$, then $\sup \left\| \frac{1}{2\|x\|} \circ x \right\| = \frac{1}{2}$ and hence E is absorbing. Let $x \in X$ and

$$S_x = \left\{ r > 0 : \frac{1}{r} \circ x \subseteq E \right\}.$$

If $r \in S_x$, then $\frac{1}{r} \circ x \subseteq E$ and so $\frac{1}{r} \|x\| = \sup \left\| \frac{1}{r} \circ x \right\| < 1$. Thus $\|x\| < r$, for every $r \in S_x$. This implies that $\|x\| \leq \inf S_x$. If $\|x\| < \inf S_x$, then choose r with $\|x\| < r < \inf S_x$. Thus, $\sup \left\| \frac{1}{r} \circ x \right\| = \frac{1}{r} \|x\| < 1$, and so $\frac{1}{r} \circ x \subseteq E$, that is $r \in S_x$. This is not possible since $r < \inf S_x$. So, $\|x\| = \inf S_x$ and the proof is complete. ■

Example 2.9. One can easily check that Example 2.6 satisfies in the hypothesis of Theorem 2.8, too.

References

- [1] John. B. Conway, A Cours in Functional Analysis, Springer-Verlag, New York, 1990.
- [2] P. Corsini, V. Leoreanu, Applications of Hyperstructures Theory, in: Advanced in Mathematics, Kluwer Academic Publishers, 2003.
- [3] Gerald. B. Folland, Real Analysis, Modern Techniques and Their Applications, second ed., John Wiley and Sons, Inc., 1999.
- [4] J. R. Giles, Introduction to the Analysis of Normed Linear Spaces, Cambridge University Press, Cambridge, 2000.
- [5] F. Marty, *Sur uni generalization de la notion de group* in: 8th Congress Math. Scandenaves, Stockholm, 1934, pp. 45-49.
- [6] P. Raja, S. M. Vaezpour, Normed Hypervector Spaces, submitted.
- [7] P. Raja, S. M. Vaezpour, Strong Homomorphisms and Linear Functionals in Normed Hypervector Spaces, submitted.
- [8] M. Scafati Tallini, *Characterization of Remarkable Hypervector Spaces*, Proc. 8-th int. Congress on "Algebraic Hyperstructures and Applications", Samotraki, Greece, (2002), Spanidis Press, Xanthi, (2003), 231-237.

- [9] M. Scafati Tallini, *Weak Hypervector Spaces and Norms in such Spaces*, Atti Convegno "Algebraic Hyperstructures and Applications", Iasi (Romania), (luglio 1993), Hadronic Press, Palm Harbor, Fl. (U.S.A.) (1994), 199-206.
- [10] M. Scafati Tallini, *Matrodial Hypervector Space*, J. Geometry. 42 (1991) 132-140.
- [11] M. Scafati Tallini, *Hypervector Spaces*, Proc. Fourth int. Congress on "Algebraic Hyperstructures and Applications", Xanthi, Greece, (1990), 167-174.
- [12] M. Scafati Tallini, *A-ipermoduli e spazi ipervettoriali*, Rivista di Mat. Pura e Appl., Univ. Udine, 3 (1988) 39-48.

Accepted: 22.08.2007